7.6 Homework
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Answers:
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@) ZA=290", LB= 465, LC=1045' ¢ ZA=163, LB=TT, LC=90"

B LY=491, £Z=109", x= 46

=130

2) LB=226, ZC=314' a=189 b) LC=110, a=0l,

o zA=83 =159

| 2B = 508",
§) ZA= 185, 2B =359, £C= 256"

0 2a=40

L £C=882, a=115 © ZA=90, ZB=30°, c=69

| ZB=88%, LC= 517"




image1.png
2. Determine whether the Law of Sines or the Law of Cosines would be used to begin the solution process for
cach rangl.
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Solve each Law of Cosine for the unknown part, Answer to 2 decimal places,

543-205 3cosd3” b) b= T8~ 2 7 Beoslis”

44624 6c0s90" @ 7=346-23 6eosd

@ 531=27'4 46 2274 6)cosB 0 93=

2' 4+ 45 - 2(62)(4.5)cosC
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4 I AABC,if ZA =48, b=12,ad c =6, which 5. In AABC,if ZA =95, b=5,and ¢ = 9, which
of the two angles £ of £C can be said o certain  of the two angles £ or £C can be sid forcertin
s acute, and why? is acute, and why?
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7. Solve the trangle. Round answers to e decimal place.

2 ZA=50b=10,c=15

9 a
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Solve AABC using either the Law of Sines o the Law of Cosines (o begin the solution.

8 ZA=126,b=9,c

22 b CA=28" ZB=42,

182

© a=123,b=06c

89

32 b=088 c= 065
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#) Law of Cosines b) Law of Sines ) none d) Law of Sines ¢) Law of Cosines 1) Law of Sines
2347 B) 1266 O T2 @) 9638 ¢ BIT 0 119.88°
£C is acute since the smaller angle s opposite the shortest sde and a triangle can only have one obtuse angle.

Both 48 and £C will be acute angles since ZB is obtuse and only one angle can be obtuse n a riangle




